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Q.1. “I done a lot of work today,” she said.
1.a lot of
2.she said

3.1 done
4.work today

Solution : 3
'I did' in place of 'I done'



Q.2 The cost of fruits and vegetables have

risen abnormally this month.
1.abnormally

2.The cost of

3.have risen

4.this month

Solution :3 Use 'has' in place of have. Singular verb will
be used for the singular noun 'the cost'.



Q.3 Having just taking a heavy lunch,

she was not ready to have any fruit.
1.to have any fruit.

2.taking a heavy

3.Having just

4.she was not ready

Solution : 2 Use 'taken' in place of 'taking'.




Q.4 There is many modes of travel to go to

Agra but I prefer road travel.
1.prefer road travel.

2.Agra but I
3.to go to

4. There is many modes

Solution : 4 Use 'are' in place of 'is’.



Q.5 “Unless you did not do your homework

you will be punished,” said the teacher.
1.said the teacher.
2.do you homework
3.you will be punished

4.Unless you did not

Solution : 4 Unless itself has a negative meaning,

so it's not used in a negative sentence.



Q.6 The reduction in the cost of education due to

an increase in subsidies offer by the government is
also seen as a reason to get more educated.

1.The reduction in the cost of education
2.is also seen as a reason

3.offer by the government

4.due to an increase in subsidies

Solution : 3 'Offered’ in place of offer



Q.7 Not complying by any of the laws can

land you into serious trouble.
1.Not complying by

2.any of the laws

3.into serious trouble

4.can land you

Solution : 1 Use 'with' in place of 'by’.
Comply generally takes preposition 'with'



Q.8 Raja Ravi Verma was one of the first

artist who tried to create a style that was
both modern and traditional.
1.Raja Ravi Verma was

2.both modern and traditional

3.to create a style that was
4.one of the first artist

Solution : 4 'Artists' in place of 'artist’.



Q.9 He is more smarter than his brother

though he does not earn much money.
1.than his brother
2.He is more smarter

3.much money

4.though he does not earn

Solution : 2 Omit more. It's superfluous.



Q.10 The child along with his parents

were waiting for the programme to begin.

1.along with his parents
2.were waiting for the
3.The child

4.programme to begin

Solution : 2 Was in place of were.

®RULE - " as well as, like, unlike, besides, in
addition to, and not , with, together with,

alono with



Q11. Supriya asked Kiran that where had

her mother gone when the results of the

contest were being declared.
1.that where had her mother gone.
2.Supriya asked Kiran

3.were being declared

4.when the results of the contest

Solution : 1 Use 'where her mother had' in
place of 'that where had her mother'.



Q12. The match is about to begin since the

captain as well as the team are on the field.
1.are on the field

2.The match is about to begin
3.since the captain

4.as well as the team

Answer: 1. Replace are with is



Q13. Most disputes can be

amicably unless they are not rigid.

1.Most disputes
2.can be solved amicable
3.unless one are

4.not rigid

Solution :4 Remove not.

solved




Q14. If so many catches had not being

dropped, we would have won the match.
1.if so many catches
2.had not being dropped

3.won the match

4.we would have

Solution : 2 'Been’' in place of 'being’.



Q15. Each of the girls have given an

impressive dance performance.
1.have given
2.Each of the girls

3.an impressive

4.dance performance

Solution : 1 'Has' in place of 'have'.



Q16. The Doon Valley with all its lights look

beautiful at night from the top of the mountain.

1.look beautiful
2.from the top
3.at night

4.with all its lights

Solution : 1 'Looks ' in place of look.



Q17. Lodi Colony in Delhi is very
different from other places in the city that

is crowded and noisy.
1.is very different
2.from other places
3.in the city

4.that is crowded and noisy

Solution : 4 'That are' is the correct usage. 'that’
relative pronoun has been used for 'other

Dlaces'.



Q18. She forgot lock the door when she

went out in a hurry.
1.in a hurry
2.She forgot lock

3.the door when

4.she went out

Solution : 2 Add 'to' before 'lock’.



Q19. We will rest for sometime when we

will reach the top.
1.We will rest
2.when we will

3.reach the top

4.for sometime

Solution : 2 Remove 'will'.



Q20. The river Yamuna has many non-

native species that is affecting its ecosystem.
1.its eco-system
2.The river Yamuna
3.that is affecting

4.has many non-native species

Solution : 3 'Are' in place of 'is’.



Q21. The street artist Satish Munjal has been

painting this wall since the past one week.

1.has been painting
2.The street artist
3.this wall

4.since the past one week

Solution : 4 'For' in place of 'since’.



Q22. I know the cobbler which mends the shoes

outside the gate of our colony.
1.1 know the cobbler
2.the shoes

3.which mends

4.outside the gate

Solution : 3 '"Who' in place of 'which'



Q23. Every employee of the company were

given a two bedroom flat as Diwali bonus.
1.as Diwali bonus
2.a two bedroom flat
3.Every employee

4.were given

Solution : 4 'was' in place of were.



Q24. She lost a big order from a known

showroom in case of her own carelessness.
1.in case of

2.her own carelessness
3.She lost a big order

4.from a know showroom

Solution : 1 Use 'because of' or 'due to'
in place of 'in case of'.



Q25. Everything has
expensive these days.

1. No error

2. Everything has became
3. very expensive

4. these days

Solution : 2 Become

became

very
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Home Work

/

Rohit did not came to the office because
he got held up due to the heavy rains.

1. to the office

2. due to the heavy rains

3. Rohit did not came

4. because he got held up



D Home Work Answer T

He is the friend
A. him
B. who

C. whom
D. which

I trust most.
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